Z:(3000) A MIJHEH 2t:(3300) 2ELNKAB = 2| 5:(3330) ==& MIgH:(3332) E2AH4 MIAISt: (210) XA [E20] [S:de]
nj; = Dl X & iml
ol A o4 A = pJ ES
&2 g Mg AAE = Of &b o4 s A &
3000
ZHINY| 79,469,543 82,232,353 A2,762,810
3300
ZEXE T 79,469,543 82,232,353 A2,762,810
3330
CRHF 79,469,543 82,232,353 N2,762,810
3332
cRAH4 22,862,209 22,537,209 325,000
200
AFS Ol A 22,862,209 22,537,209 325,000
210
BXALY 19,762,209 22,537,209 A2,775,000
401
édggltlle-ﬁ 19,762,209 22,537,209 A2,775,000
16,719,120 19,494,120 A2,775,000 01 Al&HI
OHZLUZ MEZAl
27X (8,650,000,000)-J1& (11,425,000,000&) =  A2,775,000
[ & & ] [ 21 & ] [ 5 2]
(2) 0o - 2,775,000 = A2,775,000
(Al 8,650,000 - 8,650,000 = 0
220
KHHI AL 3,100,000 0 3,100,000
401
AA&H L 3,100,000 0 3,100,000
CHdl
3,100,000 0 3,100,000 |01 Al&H]
A= AIZAHWA=2ER) = 3,100,000
3333
cRexze 55,255,331 58,343, 141 A3,087,810
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Z:(3000) & MoKl 2:(3300) 2 EXNHZENLHI 8:(3330) 2@ Ml (3333) 2R MIAIE:(210) BEALY [E2] [ee: 3]

t = b s bl i
of &b o &t 3 | x
B S NS AAE < G & s A2
200
AR Off A 55,255,331 58,343, 141 A3,087,810
210
S 43,658,760 43,708,480 249,720
401
édﬁﬂl?—é? 43,658,760 43,708,480 A49,720
43,406,000 43,446,000 40,000 |01 Al
OHE2ULH TRHIIAN JI2LAALAS
2 (0)-21& (40, OOO OOOC’J) = 40,000
52,760 62,480 N9,720|03 A **‘Z‘IZHI:II
OUWEDIID BHER HEBA
2 (0¥)-I1E(9,720,0008) = A9,720
220
KEHIAHS 11,596,571 14,634,661 23,038,090
401
Mauise 11,596,571 | 14,634,661 | 3,038,090
11,670,881 14,630,881 | 3,060,000 01 Al&H]
D22 HESAH(BSEH)
2H(0&)-71F(3,100,000,000&4) = 43,100,000
OHE2ULH T2HIYBA I LML
40,000,000& X141 = 40,000
25,690 3,780 21,910|03 Al&=2CHH|
OUWEDIID RHE2 SHHTA
8,764,000,000&X0.25% = 21,910




Z:(3000) ZHMOKLH  2:(3300) ZEXE2ERLH] 5:(3330) C2#H HIgt:(3333) =2 Rzl Mg (210) 2 F A (S23] [o9:d8)]

i = 0 0® W R
o o o = ) =
=2 A AN = e
2 M g 107,817,543 110,580,353 |  -2,762,810
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